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Question Id : 5494703166 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (1 to 20)



Data Sufficiency Ogrod Do

Note: In questions numbered 1 to 20. a question is followed by data in the form of two
statements labelled as T and IT. You have to decide whether the data given in the statement is
suffictent to answer the questions. Using the data make an appropriate choice from (1) to (4) as
per the following guidelines:

a) Mark choice (1) if the statement I alone 1s sufficien to answer the question.

D) Mark choice (2)if the statement IT alone is sufficient fo answer the question.

¢) Mark choice (3) if the statements I and II together are sufficient to answer the
question but neither statement alone is sufficient.

d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

A : 1 dod 20 368 wyd PO ;ge;eﬁ‘m @S 93), @50 |, Il 0 fden o ot padare
diotorr @ad( OE*OD. YYD dFFoto EHAPA0D), By PIDTW YYD VAFET) o
:)U"sﬂ‘m DTAr g 6 bh Dg“ﬁoa“é'.l. & Dg‘dcﬁ) Sofd drgdoys g &ndirhon) (1)

A0odt (4) 65 A6 e 2a7en /) Jows dabod.

a) P9 vdrgrdo 'Etjaﬂmg) Do | Arddy :30“5;@@ 2 2 (1) m dhfoced.

b) 23y ddrerdo adyods Pddde Il drdd Hrrjpd & aaw (2) m beded.

¢) 8D ddrordo adyedi® pddae I, Il 890 ofdan] wobd’ J w8 Sre Do
4TS D aaw (3) m hioded.

d) P39 ddrgrdo radbodjﬁ.‘a 2adien |, 1 530 sre D070 578 BB oo B0

eond D st (4) m thioddod.

Sub questions

Question Number : 1 Question Id : 5494703167 Display Question Number : Yes Is Question
Mandatory : No



If “a ‘and b ’are positive integers, what is the value of ‘g “?
‘g D e G2 DTETRoSRR0NE. g Desd Jodd ?
L b—-a=4

Ik a+b =2

Options :

1.331

2.¢¥ ©

Question Number : 2 Question Id : 5494703168 Display Question Number : Yes Is Question
Mandatory : No

What is the value of tan26 ?

tan?8 Jensd Jodd ?

12
L. 5in 26 =—
13

IL. 6 lies in the first quadrant

B 2068 oo &° &G

Options :



Question Number : 3 Question Id : 5494703169 Display Question Number : Yes Is Question
Mandatory : No
How much money ‘X’ saves from his salary in that month?
e Reest X aa0g), Bevn0es’ Jod E@":m& Ty B ?
. ‘X" salary in that month is Rs.52.000
e Do’ X ding ddan or 52,000

IL. The amount ‘X’ spent in that month on children education and travel is
Rs.13.800

o5 Dud’ Hye BENHD, poirmrod X 200y DD Aogo 6 13,800

Options :

1.% |

Question Number : 4 Question Id : 5494703170 Display Question Number : Yes Is Question
Mandatory : No



What is the length of the train in meters?
es Ben TFE) Doag & Joss ?
I The train takes 15 seconds to cross a platform of length 65 meters

&3 Do 65 2. SPED) S0k 06 Sﬂﬁé e 15 Do Brufotnod.

II. Speed of the train is 80 KMPH

es Bew Dtfo oty 80 .20,

Options :

1.% 1

Question Number : 5 Question Id : 5494703171 Display Question Number : Yes Is Question
Mandatory : No

Is the A ABC equilateral?

A ABC Daveraro @gear 7

L Sum of the angles A . B is twice the third angle C

Emanen A, B & 20mr08 ooy Eme C

1. Lk AR vl =1 3 :2
Options :
1. # .

I

2. ¢



Question Number : 6 Question Id : 5494703172 Display Question Number : Yes Is Question
Mandatory : No
How many Sundays are there in that year?
23 205830:0085° DD BBIPED0N &) 00 7
I. February month 1n that vear has 29 days
23 205800085°D HRHb Jwe’ 29 FwenTmyon
II. February month in that vear has 28 days

23 WoSB G0 D) Do e’ 28 FerenTy on

Options :

1. % .

Question Number : 7 Question Id : 5494703173 Display Question Number : Yes Is Question
Mandatory : No



Is the positive integer “x’ odd?

BRARTTroS0 X 5 = “ﬁ}oaﬁg ?

E 7x 1S an even integer
T 78 QFgoS;jﬂ

IL. 81 18 even integer

8x @b ?Q"j“g“o €500

Options :

1w 1

| B

2. %

Question Number : 8 Question Id : 5494703174 Display Question Number : Yes Is Question

Mandatory : No

Y

i F F] 2 ! i ! || -~ .2 i
If &7, ¥ are positive integers. is x~ + y~ an integer?

i 'I 2
X, Y SDLFTroETOoNS 4 x4 Yy~ Qrgrosaoe ?

I. Xoy=1 12
IT. x + v is a multiple of 7

7 CIE), S MRSAV X TV

Options :

1w 1



Question Number : 9 Question Id : 5494703175 Display Question Number : Yes Is Question
Mandatory : No

What is the third term of that geometric progression?

es (DA 5% 3 o DAL AT

L. The 5% term of that progression is 32
es FA 5°D 5 H HeAD 32
II. Product of first 5 terms of that progression is 1024

03 32 5°D 2wee 5 Hoaoe ogo 1024

Options :

1.331

Question Number : 10 Question Id : 5494703176 Display Question Number : Yes Is Question
Mandatory : No



What is the height of that right circular cone?
&5 @08 eIl Fos0Y) CIVG), B0 o T
B Volume of the cone is 127 cubic centimetres

€3 F0810:)) 0 HBAFrmAW 12T 205 o 2o

IL Lateral surface area of the cone is 151 square centimetres

_ . B
&5 $0805Y) DGR DEFLHL 151 & | Do [

Options:

’I.%1

[ ]

2. %

4. ¢ 4

Question Number : 11 Question Id : 5494703177 Display Question Number : Yes Is Question
Mandatory : No

What 1s the measure of an angle ‘Y"?

Erao Y DBATHIAL Jodd ?

L. Angle X =120°
X €0 = 120°
i3 Straight lines PQ and RS are parallel

ooy Gao 20 PQ |, RS e faroddo



Options :
1

1, %

2% °
3¢ 7
4.% 4

Question Number : 12 Question Id : 5494703178 Display Question Number : Yes Is Question
Mandatory : No

On what day did Geetha reach Banglore?

Sorwrdy € Ao D B ﬂm&‘:ﬁ& ?

L. Geetha was in Bangalore on a holiday.

Aed Soriwrd & s Hody Hwd &5\ 8

IL. Only Sunday is a holiday

es@arGo aradan e S

Options :

1.331

[ B

4.+



Question Number : 13 Question Id : 5494703179 Display Question Number : Yes Is Question
Mandatory : No

In the triangle PQR. right angled at P, what is the length of the side QR?
P 53 woe E'mo o @zbao PQR & dbasdnd QR Fasy Jos?
I PQ’+ PR?= 144

I1. POHPR=12

Options :

1.#”1

Question Number : 14 Question Id : 5494703180 Display Question Number : Yes Is Question
Mandatory : No

What is the average of the real numbers x, v andz ?
Fa ity Fba&f}é VX ; ¥V, Ie DD Joed?

XT3y +4z=29

I1. Sx+4y+3z=25

Options :



3.¢

Question Number : 15 Question Id : 5494703181 Display Question Number : Yes Is Question
Mandatory : No

What is the measure of ZPQR?

ZPQR G308, abarmines 7

L. MQ bisects ZPQN and NQ bisects “MQR

ZPQR & MQ “andmocd Sipod 0oy ZMQR & NQ dandmocs
Do
II. ZMOQN =40°

Options:

1.% 1



Question Number : 16 Question Id : 5494703182 Display Question Number : Yes Is Question
Mandatory : No

What is the two digit number?
JotoSe) r‘i:noa:_}_s D 7
L. The number is a multiple of 51
es Dosdf 51 clwe) rbeso
IT. The sum of the digits of the number is 9

es o &' woSer Jogawn 9

Options :

1.«'/1

Question Number : 17 Question Id : 5494703183 Display Question Number : Yes Is Question
Mandatory : No



Is PQRS a parallelogram?

PORS 28 faaimodds me:a;mae.am‘?

5 R

I PQ=RS

. £Q=110°

Options:

’I.%1

Question Number : 18 Question Id : 5494703184 Display Question Number : Yes Is Question
Mandatory : No

A boy can swim six kilometres per hour in still water. what is his net speed in the
river?
28 erench D330 DB’ ot 6 S8 DKy S, SO wBd DETDADW Jos 7
I The boy swims in the same direction as the river current

DO DI BISD & BN SEHBIT) D
IL. The river current flows at 3 KMPH

56 paririy St dotady 3 & o

Options :



{ ]

Question Number : 19 Question Id : 5494703185 Display Question Number : Yes Is Question
Mandatory : No

Isa=bh

a = b esgnyedoonre 7

I (;3_5,51_9:[)
I b2 —6b+12=2b—4

Options :
1

1. #

[ o]

Question Number : 20 Question Id : 5494703186 Display Question Number : Yes Is Question
Mandatory : No



How old is Ram now?
"6."59_‘);1{;‘.;! omaD SH0IRY Jodh 7
L Today is his birthday:.
&a B e0add 2DHD & e
I1. One year after he will be twice as old as 10 years ago

208 oad+0o ST 93 S0y, 10 DodaTre Sdo a&j}"m;j!_—‘.} ﬁégoégj

Options :
1.% 1

iy
2.¥ 7
3. % 3
4, ® :

Question Id : 5494703187 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (21 to 30)



Problem solving PSS
Sequences and Series wFAre, Frow

Note : In each of the following questions, a sequence of numbers or letters that follow a definite
pattern is given. Each question has a blank space. This has to be filled by the correct
answer from the four given options to complete the sequence without breaking the

pattern.

Ardd: Sod ayd 98 9F) A @D dopgen ™) BT 50 2.8 S0EDY Jahairdy
Ty av. 98 91 6 200D Ad\d Teodh T dod H0 Bad BT Iy De)

0040 oharas dorfo Senddorr oo,

Sub questions

Question Number : 21 Question Id : 5494703188 Display Question Number : Yes Is Question
Mandatory : No

ot G 1§ 1196
Options:
1 % 225
5> % 121
3 % 144
4 169

Question Number : 22 Question Id : 5494703189 Display Question Number : Yes Is Question
Mandatory : No



s Wi A 6

Options:
30

1. %

40

60

80

Question Number : 23 Question Id : 5494703190 Display Question Number : Yes Is Question
Mandatory : No

125 : 343 : : 2197
Options :
1 % 1341
1431
2. %
3 ¢ 15%]
4 % 1335

Question Number : 24 Question Id : 5494703191 Display Question Number : Yes Is Question
Mandatory : No

TR g

Options :



, % 456
3 x 512
4w 492

Question Number : 25 Question Id : 5494703192 Display Question Number : Yes Is Question
Mandatory : No

1625 1 243 :
Options :
1 % 80
2. v O

72
3.% 7

5
4, %

Question Number : 26 Question Id : 5494703193 Display Question Number : Yes Is Question
Mandatory : No

6218035
Options:

240

1. %



180

120

4 % 60

Question Number : 27 Question Id : 5494703194 Display Question Number : Yes Is Question
Mandatory : No

Options:

1. 216

60

3 % 180

Question Number : 28 Question Id : 5494703195 Display Question Number : Yes Is Question
Mandatory : No

et o i BV

Options :

| x 625

576



Question Number : 29 Question Id : 5494703196 Display Question Number : Yes Is Question
Mandatory : No

AF:26:: 10
Options:
1 % 56
2 % 156
206
3. %
4 & 306

Question Number : 30 Question Id : 5494703197 Display Question Number : Yes Is Question
Mandatory : No

PEN : 55 :: BOY :

Options:

252

1.9



160

Question Number : 31 Question Id : 5494703198 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series eRugarw, Froen

Pick the odd thing out in the following.

Sodd @y 783" BT WIS thociodt.

Options :
1 % 90

Question Number : 32 Question Id : 5494703199 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series egaru, Froew

Pick the odd thing out in the following.

S0 @y 78¢5 DTV hocod.

Options :



Question Number : 33 Question Id : 5494703200 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series CELERIIVEE AT

Pick the odd thing out in the following.

S0t AN T783¢° DOT 06 hocsed.

Options :
1. % &
2. % 1
3.x O
4.+ S

Question Number : 34 Question Id : 5494703201 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series edngaren, Frae

Pick the odd thing out in the following.

S00 @D T3¢ DB8T°0IA hocsodt.

Options :



2. % ?

3 % 15
20

4.

Question Number : 35 Question Id : 5494703202 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series eR0gATreD, Fren

Pick the odd thing out in the following.

Sodd @@ T83e" DBT°0 IS hosed.

Options :
1% (3.5.34)
5 % (3,7 74)

s (7.9,130)

(11,13;2980)

Question Number : 36 Question Id : 5494703203 Display Question Number : Yes Is Question
Mandatory : No



Sequences and Series wRSAT, F0e

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.
Arcd: o6 @AND 9E) 28 PAYIWD Jobadrdy FSWes. & dabdrd) dddod)

200D ATorHd 2700 HFfodod.

BEKP.EMQ,IPS .NTV.

Options :

1¢ TYZ

Question Number : 37 Question Id : 5494703204 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series WAZATD, Frew

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.
Ardd: 300 By DI w8 PANSDD Johardy Fe3ed. & Jahardy ddded)

PAH pargrded 290 HFGodod.

18.30.48.72.102 .

Options:



138
1.4

96

128

198

Question Number : 38 Question Id : 5494703205 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series RGITe, Frew

Note: The following question follows a definite pattern. Observe the same and fill

in the blank with suitable answer.

Ardd: So6 @dyd 93) 28 PG Jabardy FBes. & Jobardy ddndod

w0 RArgrded ardd Hrtodod.

08.38.12.6.448.188.2,

Options :

1% 3458

, x 346.6

3. %

4.+



Question Number : 39 Question Id : 5494703206 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series edngaren, e

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.
Arcd Sod BN 9F) 28 PSR Jobdrdy FBRed. & Jabardy dddod

P8 Hdrorded 209 HFbocod.

7.19,73, 361, , 15121
Options :
1@ 2161
5 % 1951
3 % 1816
1525

Question Number : 40 Question Id : 5494703207 Display Question Number : Yes Is Question
Mandatory : No



Sequences and Series ©ZATL, Fren

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.
Arsd: Sof @dyd 98) 28 PASH Jahdrd) Fdwed. ¢ Jabardy ddndod)

PBaH DATEEHed 209l Hrdedod.

A;B;D.G K,
Options :
1. % M
2. % N
O
3. %
B
4.+

Question Number : 41 Question Id : 5494703208 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series wdgare, Froen

Note: The following question follows a definite pattern. Observe the same and fill

i1 the blank with snitable answer.

Ardd: 308 @D 9F) 28 PGSV JaDAry TH0s. & Jabard) dddec)

2ABaH Darorded 20 Drodod.

500, 2500, 250, 3750, 187.5.

Options:



| % 4890

, o 4687.5

AZTS S

3980

Question Number : 42 Question Id : 5494703209 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series gATD, Froen

Note: The following question follows a definite pattern. Observe the same and fill

inn the blank with suitable answer.
Arod: S08 By 9F) 28 PG Jabardy Fed. & Jabdrdy dddod

2B Dargrded 2090 Hrodiod.

3.30.129 348,735,

Options:

1068

1178

1518

1338



Question Number : 43 Question Id : 5494703210 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series egaTen, Sroew

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Arsd: Sod @YD DB 28 PNSDI Jobdrdy FBed. & Jabhrdy ddndod
20D Darorded a0 Hrtodod.

141.280,138,274.135,

Options :
280
1. %
5 % 282
268
3.¢
260
4, %

Question Number : 44 Question Id : 5494703211 Display Question Number : Yes Is Question
Mandatory : No



Sequences and Series gAre, Froew

Note: The following question follows a definite pattern. Observe the same and fill

i the blank with suitable answer,

Arod: S04 NG 2F) 8 PAYIDD Jabardy FBed. & dabardy dddoed

260HMH Aarorded 790 HFdodiod.

COVAXIN , VAXINCO . XINCOVA ,

Options :
NOCAVXI
1. %
NCVOXAI
2. %

3 x NCVAOIX

NCOVAXI

Question Number : 45 Question Id : 5494703212 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series wgare, Faew

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.
ArGd: S8 @D 9F) a8 PANIWD JaDardy FB08. & JabArdy Addod)

PBHM DArgTHed a0, Hrdodod.

al, 77,1715 . 250 279,

Options :



1. %

413
2. ¥

616
3. %

512
4. %

Question Id : 5494703213 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (46 to 48)



Data analysis tgrod Dgan

Note for questions 46 to 48 :

46 ol 48 S0 fdo o)1) 05 ArEha)

Note:

The following table gives the consumptions of sugar (in thousand tons) by 5 different states A
B.C.D.E in 5 months. Based on the information given in the table answer questions 46 to 48,

i

5 226 D“%"U) A.B.C,D.E w5aef o8& dedeed (So tidy g ) ddTen & 300 ;3&25&5‘

LB uEra. & 7’.)%3595‘1) AArTGo wdorr Qi) 46-48 gy 20 @53506.,

Month 30 —

JAN FEB | MAR | APRIL | MAY
State ov0 |

153 175 126 147 182

B 98 85 12 105 112

C 195 206 212 174 225
63 10 15 81 95

E 52 63 69 18 81

Sub questions

Question Number : 46 Question Id : 5494703214 Display Question Number : Yes Is Question
Mandatory : No

In which state. the consumption of sugar registered highest percentage increase in
May over January

08 & IO\ D dee° J oo &° Dotees edo (B3 9B Teo SATB0VS
T -
Options:

1. % 2

2. %



4.

Question Number : 47 Question Id : 5494703215 Display Question Number : Yes Is Question
Mandatory : No

In which month. state D registered highest increase in the consumption of sugar

over the preceding (previous) month:

eroidsy 2008 Do Qjﬁ%@ 2 28 oo D & Hottrs arddo (80T Eob

Options:

| % Feb
Mar

2.

3 % Apr
May

4.+

Question Number : 48 Question Id : 5494703216 Display Question Number : Yes Is Question
Mandatory : No

The percentage of decrease in the consumption of sugar by the state ‘A’ in March
over the month of January (corrected to two decimal places) is
2330 e & TS 2By Awd” o A chog), DedErs ke & Bce Tdo

(Bocwy 0% gﬂa‘nmusa faafomm)



Options :

1« 17.65

Question Id : 5494703217 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (49 to 53)



Data analysis 8803 D340

Note :
The following Pie-chart gives how the monthly income of a person is allocated to different

heads. Based on the information given in the Pie-chart answer questions 49 to 53,

ArOR:
w8 S8 DB wErabo ) Do G HHVL BranedndsB & Sob D — Hio & wwod. &

NAFTTR) o B 28w 49-53 v 206

Houwse Rent

Children Education
R £

Travel

wolroren

Sub questions

Question Number : 49 Question Id : 5494703218 Display Question Number : Yes Is Question
Mandatory : No

If the house rent paid in a month is Rs.16500, then the amount allocated on travel

in that month. in rupees, is
2.8 Deses S8 @oth @ dr 16500 wond, & Aeel’ poireros) Seronond @’mé,

draranees”

Options :

6500

, » 7500



8500

Q000

Question Number : 50 Question Id : 5494703219 Display Question Number : Yes Is Question
Mandatory : No

The percentage of savings in the total income of a month (corrected to two

decimal places) is

w8 De"d Jndo wrraod’, TFay Tdo (Sow (708 FadwL) BdBwT)

Options :

w832

Question Number : 51 Question Id : 5494703220 Display Question Number : Yes Is Question
Mandatory : No

If the amount spent in a month on travel is Rs 8000, then his total income in that

month i3
we Dod’ porrmod) poy DBY Tawy o 8000 wond, o Do wad dwdo

earrodio drarosees

Options :



1_33

, o 57600
5 % 54400
4 % 57:000

Question Number : 52 Question Id : 5494703221 Display Question Number : Yes Is Question
Mandatory : No

The amount spent on children education. travel and entertainment put together is
what percentage of the amount spent on house rent in that month (corrected to two
decimals)?

& Dod’ Hye S, poirerw, oo Edoe ady DR 2udo T, 208 €3 ©

I Ao’ Jod Tio 7 (Doch GT03 ,gvammgg Zofonm)

Options :
1. % 78.57
2. % 89.31
3.« 127.27
4, % 133.43

Question Number : 53 Question Id : 5494703222 Display Question Number : Yes Is Question



Mandatory : No

If the total mcome in a month 1s Rs. 54,000 then the difference in the amounts
spent on food and fravel in that month. in rupees. is
28 Do’ Dodo escraio 6rF 54,000 eond e D esdfco wbow DoirEFOd

DONDHD Ty, © D) O, drarae’

Options :

1 ¢ 6000

> % 7500

3 % 9000

4 % 10500

Question Id : 5494703223 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (54 to 55)



Data analysis 8803 D34m

Nofe:

In a hostel there are 1500 students. The numbers of students who read newspapers A, B . C are
given in the Venn diagram below. Based on this information answer questions 54 and 55,

BVl

28 308 tyiroed 1500 dod Dﬁ“ls(@i)mmim. To 285w A, B, C © & g6 ﬁa‘ggm Ropfen &

206 20 -nbyo & RI(OE. & ddraido wcrdom 54, 55 P 0D wm%yd.

Sub questions

Question Number : 54 Question Id : 5494703224 Display Question Number : Yes Is Question
Mandatory : No

The number of students in the hostel who do not read paper ‘A’ but read either
paper ‘B’ or paper ‘C" is
508 riirodd damd’ A D¢ wedo, B 08¢ ™D € HE ™D wHd

ijgc@bm ?ooajé

Options :
1 % 910
860



Question Number : 55 Question Id : 5494703225 Display Question Number : Yes Is Question
Mandatory : No

The number of students who do not read any of these 3 papers A. B. Cis

A B, Co & D orofsar oo Deeydor) Howy

Options :
70
1. %
5 90
110
3. %
130
4. #

Question Id : 5494703226 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (56 to 60)



Coding and decoding problems 8coh, A8'coh davifen
Note:

Based on the code given in the following table and the rules (1). (2) and (3). answer the

questions 56 to 60,

VAt
S8 mAyd PSS FE oatn Jabaren (1), (2). (3) verdor 56 doc 60 36D do Yo

amwaasod.

Leffer
MGOPMACXEDDUHBNZYG

Code
sx 3| 8|47 9|6

w Lan

(]
==
=
[=a]
—

% | 3|12

Rules: (Dobhamren)

(1) In a string of letters if both the first and the last letters are vowels, the code for the
vowels are to be interchanged.

W 850 H0ANS™D AES B D0 wsTen aoyoond, & ety dbog) EE ud
PhOAT Soird.,

(2) If a string of letters contains a single vowel, then that vowel is to be coded as the code of
its successor in that string.
wé W40 A0S’ wLB Vi) Gt & VIND YLSHEANE'D BnTS vt 8 & EC

Sardo.

(3) In a string of letters if the second letter is a vowel and the fifth lefter is consonant, then
both should be given the code of that consonant,

w950 000 ¢ Jodkd BEdo ey LD, DD VLG FeD Lawd, B Todot)d &

e 86 & ag .

Sub questions

Question Number : 56 Question Id : 5494703227 Display Question Number : Yes Is Question
Mandatory : No

Thecode for PXUNCM is

PXUNCM < &5



Options :

39717%

3 -
5 390117%

302178
3. %

$91173
4, %

Question Number : 57 Question Id : 5494703228 Display Question Number : Yes Is Question
Mandatory : No

Thecodefor DEHAZN

DEHAZNGS EE

Options :
11@4%6
1.% )
6@ % 4% 1
2. % )
3 % 6P@4pB7
6% (@ 4% 1
4.+ =

Question Number : 58 Question Id : 5494703229 Display Question Number : Yes Is Question
Mandatory : No



The codefor MHCY B Gis

MHCYBGS &&8

Options :

S @758°
1.4 RR TS

$@?758
2 %

75 TR
3 % 58%(@

Question Number : 59 Question Id : 5494703230 Display Question Number : Yes Is Question
Mandatory : No

The code for OMPC Z A 1s

OMPCZA & P&

Options :

2%$37%2

- 437$%2

4%537%2
3.¢

4%372

[ ]



Question Number : 60 Question Id : 5494703231 Display Question Number : Yes Is Question
Mandatory : No

Thecode forOUBNYE is

OUBNYES &&

Options :
1 % 25515
5> % B#8152
Sl N
3. ¢
2#E15B
4, %

Question Id : 5494703232 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (61 to 65)

Coding and decoding problems Edofi, A5G0l iy

Note:
Each of the questions from 61 to 66 has different coding pattern. Identify the pattern and
answer questions 61 to 65.

Ea T
61-65 208 o 3y 08" 2.8) H3) L DD Ecof HIAWDATAOT. & HEAD

o) b1dnoc. 65 H6% 7 L5 AArTrTDIOC.

Sub questions



Question Number : 61 Question Id : 5494703233 Display Question Number : Yes Is Question
Mandatory : No

In a certain code language if ‘HOLE’ is coded as 100 and ‘PAIR’ is coded as 98,

then in the same code ‘MUST’ is coded as

we D83 6 g ‘HOLE' & 100 e, PAR' 98 e 2 £4 83, o 86 &
‘MUST’ & o E4

Options:

, = 123

3 % 148

4 167

Question Number : 62 Question Id : 5494703234 Display Question Number : Yes Is Question
Mandatory : No

In a certain code language ‘HOLE’ s coded as ‘NGJQ’ and ‘MUST” is coded as

‘UVOW’ : then in the same code the word ‘PAIR’ is coded as

wé D8y £E e ‘HOLE' v ‘NGIQ' mau, ‘MUST’ & ‘UVOW” oo EE &%, &
EE o PAIR’ & vt &

Options :
1 % KRTC
KTRC



5« RTKC

RECT
%

Question Number : 63 Question Id : 5494703235 Display Question Number : Yes Is Question
Mandatory : No

In a certain code language if ‘PAIR’ is coded as ‘TAOR’ and the ‘MUST’ is
coded as “WVIP’ then in the same code the “‘HOLE’ 1s coded as

28 A0 E€ wried” 'PAIR’ & ‘TAOR’ e, ‘MUST’ &0 'WVIP i £'6 8%, @28

EE o of° ‘HOLE' & EBE

Options :

1 ¢ UNEK
AMIK

UMET

AMIJ

Question Number : 64 Question Id : 5494703236 Display Question Number : Yes Is Question
Mandatory : No



In a cerfain code language if ‘BLUE’ is coded as ‘109" and ‘GREY" is coded as

‘158", then in the same code ‘PINK’ 15 coded as
w8 DBy £E o ‘BLUE & ‘109” i, ‘GREY” & ‘158" e o 84 8%, wd €6
a5 ‘PINK’ &) £&

Options :

% 150

140

130

Question Number : 65 Question Id : 5494703237 Display Question Number : Yes Is Question
Mandatory : No

In a certain code language if ‘BRIGHT’ is coded as ‘EFRZPG’ and ‘PLANES’ i3
coded as ‘LCQNTY", then in the same code ‘MASTER’ is coded as

w8 D8y EE e ‘BRIGHT' & ‘EFRZPG’ e, ‘PLANES’ & ‘LCQNIY’ o €6
@0, vd EE arn o ‘MASTER & €4
Options :
RQYGIF

1. %

, o RCPEYQ

RDQEYP
3. %



PQYGIF

Question Number : 66 Question Id : 5494703238 Display Question Number : Yes Is Question
Mandatory : No

If 8% May 2008 was THURSDAY, then the day on 7® June 2019 was

8 May 2008 rbdooe0e 29008 7 June 2019 '?_‘)Di}é 0o

Options:
Wednesday
AR APl e s
1. %
Thursday
(B Go
2. %
Friday
BoLT G0
3.«
Saturday
4 % FedareGo

Question Number : 67 Question Id : 5494703239 Display Question Number : Yes Is Question
Mandatory : No



Date, Time and arrangement problems &6, asvabo, @650 USHA O

What is the time between 7.00 am and 8.00 am when the angle measured in

clockwise direction between the hour hand and minutes hand is 90°7?

7.00 am 208cko 8.00 am & 6§ AAcITde &) o dvevw WEE@o vy S’

E@&b?’@bm 90° eagnndd, £ 60 R0 Joeh?

Options :
&
7.52—am
11
1. %
7
7.53—am
1
2. %
6
7.54—am
11
3. ¢
5
7.55—am
4, % b

Question Number : 68 Question Id : 5494703240 Display Question Number : Yes Is Question
Mandatory : No



Date, Time and arrangement problems 36, dadoabo, @dnoge QDD

A clock gains 24 minutes in 24 hour. If the clock is set right at 7am. then the

actual time when the clock shows 1.30 pm next day is

28 (doirde 24 dotaerst 24 Aloaren e Adoreed. ¢ (Goirde 7am

pbdohedd adndfe & Adoirde 1.30 pm BIFD0uDNE DBPVD DT

Options :

1.00 pm
1.9 .

5 % 1.08 pm

3 % 1.16 pm

1.20 pm
4. %

Question Number : 69 Question Id : 5494703241 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems $4, doabo, e9:065%0 R

‘Q’ 1s father of ‘P’ and “Q’ is the only son of ‘R’. If ‘R’ is father of *S” and ‘T" i3

the wife of the brother of *S°. then *T" 1s related to ‘P’ as

P cing), sog, Q aBoin R dlng), D58 Darde Q. S ding), sod R avbain § ding)

oDt aedy T ewond, P & T & rer 200630

Options :



Daughter - in — law
1 % Ecten

Aunt

) Ted / of Toood ey
2. %

Mother
3.v R

Daughter

=% 02 ble ]
4, %

Question Number : 70 Question Id : 5494703242 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 38, davabo, 850 divdgen

For every 55 minutes, a bus leaves from Visakhapatnam to Kakinada. An
announcement at Visakhapatnam bus station said “a bus to Kakinada left 22

minutes ago and the next bus to Kakinada will leave at 11.10 am™ Then the time at

which announcement was done is

D0 55 HDHADOL) wsFrd DTDV 0 A0C BEPES) WE WYY BI0DLIAMB0S.
22 Doare & TETEDH L Wy BCLENB0d, Ba SETEL Bdard ISV
1110 am £ eaen 30" @) Dby o oy A0 & ag PEbd Bavadod. e

HE0S Bobeds Haabo

Options:

10.37 am
1.¢

10.25 am

2. %



10.15 am
3. %

10.42 am
4, ®

Question Number : 71 Question Id : 5494703243 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 34, ddoabo, e9d008e AR

A person X reached the place of meeting 32 minutes before 10.20 am and he is 55
minutes earlier than ‘Y’ who came to the meeting 38 minutes late. Then the

scheduled time of the meeting 1s

28 513 X Hards 584 10.20 am Lot 32 Dawaken axodor ST baky
ey 38 DawsFen DAFITIE BT Sy, Y o 55 Daren Aot

ST, )Y & DAY DY Dvabo

Options :

0.55 am
1. %

10.05 am
2.

10.10 am
3. %

10.15 am



Question Number : 72 Question Id : 5494703244 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 36, d:vobo, @050 DR

Speople P, Q.R.,S. Tsitinarow as follows; ‘R’ sits to the right of ‘Q’. *S’ sifs
to the right of ‘P*, who 1s at the right of ‘R’ and “T” sits to the left of ‘Q’. Then the

person in the middle of the row is

5o e PLQ R, S, T e we 3000 & Sobd o ardnTy. Q 8
Dapa R &) €. R 2 i &) P s dpps S G € aobosw @ S

B i Py e o B Sﬁd&ba"i G2, B0ANGD €8 DA m{:@aﬁ’a (= iloV) Q‘t’l QSQ

Options :
1. F
2. % Q
3¢ B
4, ® >

Question Number : 73 Question Id : 5494703245 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 36, oo, @20050 davDjen

Ifa®b=a’+band a*b=ab’forall a.b <R, then (283) * (485) =

2 H, §)
92y TP Dojena bo & aBb=a"+b 20daiw a*b=ab” wond

(283) * (4@5) =



Options :

, x 1029
, x 2509

3 % 2937
4w 3087

Question Number : 74 Question Id : 5494703246 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 34, dayabo, 0050 Dddumjen

If “+" represents multiplication. ‘-’ represents addition. *x* represents division and

‘+' represents subtraction. then 43-5+14+22x4 =

sy, -7 Rosuardy, a;*rﬁ#o?f{)l e aigo:i}émmﬁ)l EAS AR RIS
43-5-14422x4 =

Options :

1. %



Question Number : 75 Question Id : 5494703247 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 36, dsbobo, @ndse davdgen

Ifa® b=at2banda ® b=3ag-dforall a.beR.then(3 D 4) D 5=

o d.beRoa® b=a+2b,a @ b=3a-he0nd, 90y (3 OHD5=

Options :

52
’|_ e

32
2. %
3 % 18

"
4. 4

Communication Ability

Section Id : 54947047
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 54
Section Marks : 70

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 76 Question Id : 5494703248 Display Question Number : Yes Is Question



Mandatory : No
Choose the correct meaning of the word given:
Pensive

Options :

thoughtful
1.4

string
2. % =l

. superficial

devoutness
4. %

Question Number : 77 Question Id : 5494703249 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the correct answer:

The young man was quickly promoted when his employers saw how he was.

Options :

lackadaisical
1. %

assiduous
2.

3 % CUrsory

4 % mdifferent



Question Number : 78 Question Id : 5494703250 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the correct answer:
The parliament was sine die,
Options:

1@ adjourned

promulgated

proscribed

proclaimed
4, %

Question Number : 79 Question Id : 5494703251 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the correct answer:

When the student was found indulging in serious malpractice. he was by the
Principal as recommended by the Academic Council.

Options :

msted

praised

punished
3.¢¥



perplexed

Question Number : 80 Question Id : 5494703252 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Chronic
Options :
NeW paper

poor

persistent
3. ¢

short-term

Question Number : 81 Question Id : 5494703253 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Wholesome
Options :

wholehearted

healthy
2.«



o widespread

total

Question Number : 82 Question Id : 5494703254 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the correct answer:
The police could not estimate the of the crime.
Options :
Viscosity

1. %

gravity
2.

gratis
3. %

gratuity

Question Number : 83 Question Id : 5494703255 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the correct answer:
COVID-191s a disease.

Options :

contiguous



congenital

contagious
3. ¢

congenial
4. %

Question Number : 84 Question Id : 5494703256 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the correct answer:

The medicines could not the patient’s pain.

Options:

alleviate
1.4

elevate

affiliate

4 % entice

Question Number : 85 Question Id : 5494703257 Display Question Number : Yes Is Question
Mandatory : No



Fill in the blank by choosing the correct answer:

Ags the pilot was injured. he died within half an hour.

Options :

spuriously

fatally

#f,)

fatefully

vitally

Question Number : 86 Question Id : 5494703258 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the correct answer:

“How dare you speak to me like that. you fellow™, shouted the marketing
manager at the sales person.

Options :

unpudent
1.4

impeccable
2. %

immutable
3. %

4. %



intricate

Question Number : 87 Question Id : 5494703259 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Gusto
Options :

quaint
1. %

snobbish

zealousness
3. v

jealousy

Question Number : 88 Question Id : 5494703260 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Affinity
Options :

difference

perplexing



disagreement
3. %

4 rapport

Question Number : 89 Question Id : 5494703261 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Gentle
Options :

silly

1. %

gaudy

tender

hasty

Question Number : 90 Question Id : 5494703262 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

Cause

Options :

reason
1.9



short

daware

creedy

Question Number : 91 Question Id : 5494703263 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer from the options given:
The receipt given to a person who books for shipment of cargo by air is called

Options:

Airway Receipt (AR)

. Cargo Receipt (CR)

Air Wayv Bill (AWB)
3.

Bill of Lading (BoL)
4. ®

Question Number : 92 Question Id : 5494703264 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer from the options given:
What is a blockchain?

Options :



Computer chips configured as a chain
1. %

A chain of memory locations
2. #

Digital ledger of transactions duplicated and distributed across the entire network of

computer system
3.¢

A chain that is difficult to counterfeit owing to robust encryption

Question Number : 93 Question Id : 5494703265 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer from the options given:

What 15 a network interfacing and enabling communication of physical objects. devices
and peripherals. exchanging information between each other without depending on human
computer interaction?

Options :

The internet
1. %

The internet of things
2. ¢

Robot

Smart sensors
4, %



Question Number : 94 Question Id : 5494703266 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer from the options given:
Which of the following is the FIRST graphical Web browser?

Options:

Mosaic

5 % NNetscape

Adobe
3 %

Graphics

Question Number : 95 Question Id : 5494703267 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer from the options given:
What is ‘capital gain’?
Options :

Amount calculated on the income of a person for tax purpose
1. %

Net profit made by a person after selling a capital asset exceeding the price of
purchase

Net profit left after paying the income tax



Non-taxable income

Question Number : 96 Question Id : 5494703268 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer from the options given:
URL’ is
Options :

router address

MAC address

Web address

‘RSS” feed

Question Number : 97 Question Id : 5494703269 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer from the options given:
What is a ‘moratorium’?

Options:

A temporary stopping of an activity by an official agreement
1.¢

Tax holiday for all income tax pavers
2. %



Distribution of fixed amount of money through Government Schemes

Stopping payments to all employees

Question Number : 98 Question Id : 5494703270 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer from the options given:
In computers ‘RSS’ stands for
Options :
Really Simply Syndication

1.4

Random Synchronic Syndication
2. ®

Real-time Summary Syndication
3 %

Recorded Summary Syndication
4. %

Question Number : 99 Question Id : 5494703271 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer from the options given:

In computer terminology. NIC stands for

Options :



1@ Wetwork Interface Card

Networth Internet Code

MNetwork Infernet Code
3 %

Network Internet Card
4. ®

Question Number : 100 Question Id : 5494703272 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer from the options given:
‘Browser’ means in software applications
Options:

A person who visits WWW

1. &

Computer windows for surfing WWW
2 %

Shifting from one WWW to another WWW
3. %

An application software for accessing WWW
4.«

Question Number : 101 Question Id : 5494703273 Display Question Number : Yes Is Question
Mandatory : No



Choose the appropriate answer from the options given:
“GPS” means and owned by

Options :

General Positioning System. owned by India

1. %

5 Global Positioning System and owned by US

. Gross Product System and owned by the European Union

Global Pathways Screening and owned by UNO
4, ®

Question Number : 102 Question Id : 5494703274 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer from the options given:

“Cybercrime” means

Options :

A cry indulged in the cyberspace
1. %

A cry committed using computer and Internet
2.

3 & Acry crime that is done in cyberface

A soft crime that may disappear in cyberspace and not traceable
4, ®



Question Number : 103 Question Id : 5494703275 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer from the options given:
Find out the one which is not an operating system

Options :

Android
1. %

Linux

3 % Mac OS

Windows Mail
4.

Question Number : 104 Question Id : 5494703276 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer from the options given:
Which of the following devices is not used to store data?

Options :

| % SSD

External hard disk

Internal hard disk
3. %



USB port
4,

Question Number : 105 Question Id : 5494703277 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer from the options given:
MS-Excel is used to create

Options :

spreadsheets
1.4

presenta frons

mail merge
3. %

graphic design
4, %

Question Number : 106 Question Id : 5494703278 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:
Despite all their weaknesses. we could not
Options:
help liking them

1. %

like them



but liking them
3. %

help like them
4, %

Question Number : 107 Question Id : 5494703279 Display Question Number : Yes Is Question
Mandatory : No

. Fill in the blank by choosing the appropriate answer:
The between the teachers and their students is very friendly.

Options :

relation

relationship
2.

3 % relations

relationships

Question Number : 108 Question Id : 5494703280 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:
Ramesh 15 addicted drink

Options :
by



2. %
3 ¢ to
4 % for

Question Number : 109 Question Id : 5494703281 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

Leela is proficient in science but weak history

Options :

Question Number : 110 Question Id : 5494703282 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blanks by choosing the appropriate answers:

up to the main door he the bell.



Options :

walking. ring

1. %

walked, rang

walking. rang
3.¢

walks. rings
4, %

Question Number : 111 Question Id : 5494703283 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Get out.

The passive voice of the above sentence:

Options :

, You be get out
You are ordered to get out

2. %

You be got out

You are get out
4. %

Question Number : 112 Question Id : 5494703284 Display Question Number : Yes Is Question



Mandatory : No
Fill in the blank by choosing the appropriate answer:
She boasts her aristocratic up bringing
Options :

_— with

2. &

3 % for

o

Question Number : 113 Question Id : 5494703285 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Identify the correct sentence.

Options :

One of my friend has gone to Hyderabad
1. %

One of my friends have gone to Hyvderabad
2. ®

Omne of my friends has gone to Hyderabad
3.¢

One of my friend have gone to Hyderabad
4, %



Question Number : 114 Question Id : 5494703286 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

The following sentence is divided into four parts (1. 2. 3. 4). Find out in which part the
error lies.

I saw a bear in the zoo and there was a ring on it's nose
1 2 3 4

Options :

L1
1. #®

Question Number : 115 Question Id : 5494703287 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
She hasn’t eaten all the cake.

Put a question tag.

Options:

has she?

did she?



isn't it?

will she?

Question Number : 116 Question Id : 5494703288 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

The following sentence is divided into four parts (1. 2. 3. 4). Find out in which part the
error lies.

He asked me whether either of the applicants were suitable
| 2 3 4

Options :

1.331

[

[

Question Number : 117 Question Id : 5494703289 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
“Throw the ball”

The passive voice of the above sentence is

Options:



You are requested to bring the ball

Others may throw the ball

Let the ball be thrown

Anvyone could bring the ball

Question Number : 118 Question Id : 5494703290 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

Fill in the blank.
On the way we called a friend’s house
Options:
1%
5 at
3« wil
fo
4, %

Question Number : 119 Question Id : 5494703291 Display Question Number : Yes Is Question
Mandatory : No



. Fill in the blank by choosing the appropriate answer:

He explained the matter to us at great length, but we were the wiser.

Options :

1 % Do

neither

none

not

Question Number : 120 Question Id : 5494703292 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

The house was burgled the night.

Options :

during
2. =

3. %

o1



Question Number : 121 Question Id : 5494703293 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

In view of traffic hassles. he may arrive sometime 8§ and 9 am.
Options :

on
1. %

i1

between

next to
4, %

Question Number : 122 Question Id : 5494703294 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:
After they lunch. the students ran outside to play.
Options :

have eaten

had eaten

were eating

4 % Wwould eat



Question Number : 123 Question Id : 5494703295 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Successful people scarcely execute without proper planning for their future.

The underlined word means

Options :

1w Always

Often

Almost never
3. %

Frequently
4. %

Question Number : 124 Question Id : 5494703296 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Tom said. “Mother, I'm hungry”? In indirect speech. the sentence will be

Options :

Tom told his mother that he was hungry
1.4

Tom asked his mother. “T am hungry”
2. %



Tom begged his mother that *“I am hungry”

Tom said to his mother T am hungry™
4, %

Question Number : 125 Question Id : 5494703297 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:
The cyelist a pedestrian.
Options :

knocked at

1. %

knocked out

knocked down
3.¢

knocked in

Question Id : 5494703298 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (126 to 130)



Read the passage below and choose the correct answer 126-130

Unemployment is an important index of economic slack and lost output. but it is much
more than that. For the unemployed person, it is often a damaging affront to human dignity and
sometimes a catastrophic blow to family life. Nor is this cost distributed in proportion to ability
to bear it. It falls most heavily on the young. the semiskilled and unskilled. the black person, the
older worker and the underemployed person in a low income rural area who is denied the option
of securing more rewarding urban employment.

The concentrated incidence of unemployment among specific groups in the population
means far greater costs fo society that can be measured simply in hours of involuntary idleness
of dollars of income lost. The extra costs include disruption of the careers of young people.
increased juvenile delinquency. and perpetuation of conditions which breed racial discrimination
in employment and otherwise deny equality of opportunity. There is another and subtler cost.
The social and economic strains of prolonged underutilization create strong pressure for cost-
increasing solution. On the side of labor, prolonged high unemployment leads to “‘share-the-
work™ pressures for shorter hours, infensifies resistance to technological change and to
rationalization of work rules. and in general, increases incentives for restrictive and inefficient
measures to protect existing jobs. On the side of business. the weakness of markets leads to
attempts to raise prices to cover high average overhead costs and to pressures for protection
against foreign and domestic competition. On the side of agriculture. higher prices are necessary
to achieve income objectives when urban and industrial demand for foods and fibers is depressed
and lack of opportunities for jobs and higher incomes in industry keep people on the farm. In all
these cases. the problems are real and the claims understandable. But the solutions suggested
raise costs and promote inefficiency. By no means the least of the advantages of full utilization
will be a diminution of these pressures. They will be weaker, and they can be more firmly
resisted in good conscience, when markets are generally strong and job opportunities are
plentiful. The demand for labor is derived from the demand for the goods and services which
labor participates in producing. Thus. unemployment will be reduced to four per cent of the
labor force only when the demand for the myriad of goods and services — automobiles. clothing,
food. haircuts. electric generators. highways. and so on — is sufficiently great in total to require
the productive efforts of 96 per cent of the civilian labor force. Although. many goods are
initially produced as materials or components to meet demands related to the fiwther production
of other goods. all goods (and services) are ultimately destined to satisfy demands that can. for
convenience, be classified into four categories: consumer demand, business demand for new
plants and machinery and for additions to inventories. net export demand of foreign buyers. and
demand of government units. federal. state and local. Thus gross national products (GNP), our
total output, is the sum of four major components of expenditure: personnel consumption
expenditure, gross private domestic investment. net exports and government purchases of goods
and services. The primary line of attack on the problem of unemployment must be through
measures which will expand one or more of these components of demand. Once a satisfactory
level of employment has been achieved in a growing economy. economic stability requires the
maintenance of a continuing balance between growing productive capacity and growing demand.
Action to expand demand is called for not only when demand actually declines and recession
appears but even when the rate of growth of demand falls short of the rate of growth of capacity.

Sub questions

Question Number : 126 Question Id : 5494703299 Display Question Number : Yes Is Question
Mandatory : No

Other than the young, which category of persons is not included as an affected one with
unemployment?



Options :

The Black person
1. %

The semi-skilled and the unskilled
2. ¥

3 % Women

The older worker
4. %

Question Number : 127 Question Id : 5494703300 Display Question Number : Yes Is Question
Mandatory : No

What is subtle cost of the incidence of unemployment to the society?

Options :

Disruption of careers of the young

Increase in the juvenile crime
2. ¥

Prolonged under-ufilization and the consequent cost-increasing solutions
3. %

Racial discrimination

Question Number : 128 Question Id : 5494703301 Display Question Number : Yes Is Question
Mandatory : No

According to the passage. prolonged unemployment does not affect one of the sectors.



Options :

The labor sector with the burden of sharing work
1. %

The business sector with increased burden of the overhead expenditure
2. #®

3 % The agriculture sector with the pressure of more hands remaining to work on the hand

The administrative sector with the burden of paying more unemployment allowance
4.

Question Number : 129 Question Id : 5494703302 Display Question Number : Yes Is Question
Mandatory : No

“Juvenile delinquency™ means:
Options :

Unemployment of the young
1. %

“ Crime of the young

Laziness of the young

Absence of work ethics among the young
4.+

Question Number : 130 Question Id : 5494703303 Display Question Number : Yes Is Question
Mandatory : No



In the final sense. for health economy and minimized unemployment. continuing balance is
recommended between

Options :

growing productive capacity and growing demand
1.4

imports and exports
2. %

government purchase of goods and services
3. %

Gross pI'i'R'E][E‘ investment and Gross govertunent investment
4, ®

Question Id : 5494703304 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (131 to 135)



Read the passage below and choose the correct answer 131-135

“Since wars begin in the minds of men™, so mns the historic UNESCO Preamble. “It is
in the minds of men that the defenses of peace must be constructed”. Wars erupt out when the
minds of men are inflamed. when the human mind is blinded and wounded. succumbs fo
frustration and self-negation. War is the transference of this self-negation infto the other-
negation. The three Indo-Pak wars and the persisting will to terrorize have emanated from this
savage instinct of other-negation that 1s the legacy of the partition carnage and its still-bleeding
and unhealed wound. Truncated from its eastern wing i 1971. Pakistan ever since has suffered
from a sense of tofal existential self-negation. Plus the scars left the two previously lost wars to
India and Kargil fill the Army and Pakistan psyche with a seething urge to revenge: that India
has to be negated. destroved — in a deep psychological sense. another Hiroshima in the
subcontinent is imaginable and possible. Terrorism in Kashmir springs from such deep negating
existenfial grounds. Like the former Soviet Union. Pakistan came into being as a result of a
grand delnsion and massive perversion of reality — the so called two-nation theory. Like the
former Soviet Union, it stands in danger of crumbling unless it modifies ifs reality perception
and comes to terms with ifs post-Bangladesh identity within the prevailing sub-continental
equation. Failing this, Pakistan is bound to break up. nudging the region to a nuclear nightmare,
including possible South Asian Hiroshima. With ‘hot pursuvits® and ‘surgical operations’ freely
making rounds among the policy elite and the public af large. the national atmosphere looks
ominously charged. “On the brink™, headlines “The week™ adding, “As men and machines are
quickly positioned by India and Pakistan, the threat of war looms real”. To which Gen.
Musharraf counters, “If any war is thrust on Pakistan, Pakistan's armed forces and the 140
million people of Pakistan are fully prepared to face all consequences with all their might”,
According to Indian Express. “Pakistan has deployed medium range ballistic missile batteries
(MRBBs) along the line of control (LOC) near Jummu and Poonch sectors in an action that will
further escalate the tension between the two countries”. And India’s Defence Minister ups the
ante. “We could fake a (nuclear) strike. survive and then hit back, Pakistan would be finished”.
(Hindustan Times, December 30, 2001) Mr. Fernandes’s formulation is certainly a tactical super
shot. even a strategically super hit in as much as this 1s the very logic of India’s ‘No-first-strike’
doctrine. The Defence Minister obviously has no idea of the ethical. phenomenological
implications of abandoning chunks of the Indian population to ransom for potential Hiroshimas
and then *finishing’ the neighbouring country of 140 million 1 what could be nothing <hort of
an Armageddon. Forget these horrendous scenarios. But does this not repudiate the grain of truth
for which India’s civilization stood for and vindicated across the untold millennia of its history?
Yet. Mr. Fernandes, the pacifist and Gandhian, is no warmonger. As Defence Minister he had to
react at a level with the Pakistan, with their proclivity to drop the nuclear speak whenever that
suited them. could have registered the message.

Sub questions

Question Number : 131 Question Id : 5494703305 Display Question Number : Yes Is Question
Mandatory : No

What is the implication of the observation of UNESCO *... wars begin in the minds of
men™?



Options :

Wars erupt because of negative thinking
1.¢

Wars take place due to unsolvable border problems
2 %

Wars happen because of the financial disputes
3. %

Wars erupt because of concrete reasons

Question Number : 132 Question Id : 5494703306 Display Question Number : Yes Is Question
Mandatory : No

According to the passage, war is the transference of self-negation fo other-negation. This
implies, war is more due to:

Options:

political reasons
1. %

ideological reasons
2.

psyvchological mindset of a nation
3 %

geographical reasons

Question Number : 133 Question Id : 5494703307 Display Question Number : Yes Is Question
Mandatory : No



On what ground. the passage does not endorse India’s doctrine of “No-first-strike™?
Options :

Ethical and phenomenological implications
1. %

Diplomatic reasons

International pressure
3.¢

Tactical reasons of war

Question Number : 134 Question Id : 5494703308 Display Question Number : Yes Is Question
Mandatory : No

What is the meaning of the word “horrendous™?
Options :

Enchanting

Horrible

Dull

4 % Eoutine

Question Number : 135 Question Id : 5494703309 Display Question Number : Yes Is Question
Mandatory : No



According to the passage. why does India’s stand not reveal the true intention of India?

Options:

Because it shows what India has been arguing for in all these years
1. %

Because it endorses India’s claim for warfare

Because it goes against the grain of the time-tested India’s stand for peace

Because it’s more a tit for tat rthetoric on the part of the defense minister

Question Id : 5494703310 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (136 to 140)



Read the passage below and choose the correct answer 136-140

The pioneers of the teaching of science imagined that its introduction into education
would remove the conventionality, artificiality, and backward-looking which were characteristic
of classical studies. but they were gravely disappointed. So. too, in their time had the humanists
thought that the study of the classical authors in the original would banish at once the dull
pedantry and superstition of mediaeval scholasticism. The professional schoolmaster was a
match for both of them, and has almost managed to make the understanding of chemical
reactions as dull and as dogmatic an affair as the reading of Virgil’s “Aeneid”.

The chief claim for the vse of science in education is that it teaches a child something
about the actual universe in which he is living. in making him acquainted with the results of
scientific discovery. and at the same time teaches him how to think logically and inductively by
studying scientific method. A certain limited success has been reached in the first of these aims.
but practically none at all in the second. Those privileged members of the community who have
been through a secondary or public school education may be expected to know something about
the elementary physics and chemistry of a hundred years ago. but they probably know hardly
more than any bright boy can pick up from an mnterest in wireless or scientific hobbies out of
school hours.

As to the learning of scientific method, the whole thing is palpably a farce. Actually. for
the convenience of teachers and requirements of the examination system. it 15 necessary that the
pupils not only do not learn scientific method but learn precisely the reverse. that is. to believe
exactly what they are told and to reproduce it when asked, whether it seems nonsense to them or
not. The way in which educated people respond to such quackeries as spiritualism of astrology.
not to say more dangerous ones such as racial theories or currency myths. shows that fifty years
of education in the method of science in Britain or Germany has produced no visible effect
whatever. The only way of learning the method of science is the long and bitter way of personal
experience, and, until the educational or social systems are altered to make this possible, the best
we can expect is the production of a minority of people who are able to acquire some of the
techniques of science and a still smaller minority who are able to use and develop them.

Sub questions

Question Number : 136 Question Id : 5494703311 Display Question Number : Yes Is Question
Mandatory : No

According to the passage. one of the following characteristics is not associated with
classical studies:

Options :

Conventionality
1. %



Reasoning
2.4 =

Artificiality
3 %

Backward looking

Question Number : 137 Question Id : 5494703312 Display Question Number : Yes Is Question
Mandatory : No

What 1s the common feeling at the end of the day for both the science education
introducers and the humanist education introducers?

Options :

Both were satisfied
1. %

Both were disappointed
2. &

Mo observations have been made
3. %

Both proponents didn’t have any serious intention in the introduction of two types of

education.
4. ®

Question Number : 138 Question Id : 5494703313 Display Question Number : Yes Is Question
Mandatory : No

What has happened to the aims of the introduction of science education?

Options:



They are completely fulfilled
1. %

. Partially the first aim is fulfilled

The second aim is not fulfilled
3. ¢

The aims of science education are not clear

Question Number : 139 Question Id : 5494703314 Display Question Number : Yes Is Question
Mandatory : No

The meaning of the word. “farce™

Options:

mockery

sincere

procedural

serious
4, &

Question Number : 140 Question Id : 5494703315 Display Question Number : Yes Is Question
Mandatory : No

What is the best method of learning science?

Options :



As per the convenience of teachers
1.4

Meeting the needs of the examinations system

2.

Not emphasizing on logically and inductive thinking
3.

Personal experience of science
4, %

Question Id : 5494703316 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (141 to 145)

Read the passage below and choose the correct answer 141-145

Functionalism is a social theory developed by Emile Durkheim in the late 18% and early
19% century. It is the theory that the society is made up of interrelated smaller parts just as our
body is made up of many smaller organs. Durkheim believed that a society can be understood in
the same fashion as human body is. The function of various organs in our body is parallel to that
of the function of social institutions in society. These social institutions are related in such a
manner that failure of one can lead to the failure of another. That is. to extend the metaphor. for
a sociefy o function well, all the social institutions need to be fairly healthy and must cooperate
amongst themselves.

Two ideas central to functionalism are social cohesion and social control. Social
cohesion is the extent to which people are bound together because of the feeling of a common
purpose created by society. Social control, on the other hand, is the extent to which people are
disallowed from acting in an antisocial manner. Durkheim argues that there needs to be a
balance between these two to create a stable and well-functioning society. Also critical to the
concept of functionalism is the idea of socialization. This is the process that allows people to
come to a consensus on values and consequentially it enforces social solidarity. Functionalists.
like other conservative theorists, believe that change in society is gradual and that it happens
with change in the value consensus,

Sub questions



Question Number : 141 Question Id : 5494703317 Display Question Number : Yes Is Question
Mandatory : No

The functioning of social institutions is the functioning of human body parts.

Options :

contrasted with
1. %

unrelated to

unlike

akin to

Question Number : 142 Question Id : 5494703318 Display Question Number : Yes Is Question
Mandatory : No

The binding of people with a common social purpose is called

Options:

social cohesion

social control

socialization

3. ¥

functionalism



Question Number : 143 Question Id : 5494703319 Display Question Number : Yes Is Question
Mandatory : No

prevents people from acting in an antisocial manner.

Options :

Socialization

A conunon purpose
2. ¥

Social control
3. %

Social solidarity

Question Number : 144 Question Id : 5494703320 Display Question Number : Yes Is Question
Mandatory : No

Value consensus is the result of

Options:

conservativisim

socialization

functionalism
3.

natural instincts



Question Number : 145 Question Id : 5494703321 Display Question Number : Yes Is Question
Mandatory : No

Which word in the passage means “agreement”?
Options :

Cohesion

Balance
2. %

Solidarity
3. #

Consensns

4, %

Mathematical Ability
Section Id : 54947048
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 55
Section Marks : 55

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 146 Question Id : 5494703322 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability evoSricded bmgaa

45

Ifforx=0 22" =2% 122 L 20 thenx =

= ':r i~
Y+ 2°% £ 20 wond RIEINED X =

3
1.%
2 % 4
3.v !
3
4. %

Question Number : 147 Question Id : 5494703323 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wodrndd vagaa
If;.-:| it ! r—! i ! :=!ﬂ!aﬂdﬂ#b Z¢ then
a-b) = \b-¢) \c—a/
‘ 1-x ‘H' 1-v ‘, 1-z ‘_
SEEUINES IS o
.1':{&_'5I:.r:lbil.::"ﬂ'!mﬁm a £ b # ¢ oond, oo
\a=b) " \b-¢) \ec-a) -
‘-’1—1"-|["1—_““;1—:‘_
a1+ y L1+

Options :

)
1.% 7



2. %

=
3. %
4.%

Question Number : 148 Question Id : 5494703324 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability ©08MRd a»;:ug'ss:a
22 liters of a mixture contains milk and water in the ratio of 5 ; 6. The amount of

milk (in liters) that must be added to this mixture so as to have milk and water in

the ratio 5: 413

22 Beg o wg D30d’ ren baw AW 5 : 6 Dyd & axr)ow. Fen wbaww

D 5 : 4 Diyydes’ DA cocmmdE & MArdE Boy dedd Few (Deges’)

Options:
7
1.% ©
2. % 2
3. % 4
5
4.

Question Number : 149 Question Id : 5494703325 Display Question Number : Yes Is Question



Mandatory : No

Arithmetical Ability wosidd &umgﬁa

4 men can do as much work as 6 women. and 5 women can do as much work as 8
children. If 12 men can complete a work in 17 days. how many days will 4 men. 6

women and 8 children take to complete the same work?

6 ?9 e Dobwhh DD 4 i pHdodpen dabiod. boiv 8 Ded Heen
Boriwhs DA 5 o e dobred. 12 Job e € DAY 17 Hwed® 7
B 08 HID 4 M YOLLEY, 6 MM Jew Aboiv 8 Hod Dyew Iy Bued Lrd

B ?

Options :

w15

> 18

Question Number : 150 Question Id : 5494703326 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability eogricdeh Eha:ugﬁdr

1U'II19+ Ew'q+ '\."IEL =

Options :

I
1. 27



2. #®

Js
3. #
g% V3

Question Number : 151 Question Id : 5494703327 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evoSricdh bmgﬁa

4 e

o7 /256 =

Options:

10

11

Question Number : 152 Question Id : 5494703328 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability wodisad bvmgﬁoj

If (2% + 1) is divisible by a natural number ‘p’. then which one of the following

numbers is divisible by this number ‘p* ?

(27 +1) 0dd wf dira doay P’ B arfonndd, vy $ob Dowgwd’ D& e doa

'p' @ rfoneciaood?

Options :
L @FFD
{216 1)
2. %
-."r W 223
- ( )
2%+ 1
Ly ( )

Question Number : 153 Question Id : 5494703329 Display Question Number : Yes Is Question

Mandatory : No
Arithmetical Ability eosredch Enmgsv:&
The least number to be added to 1056. so that the sum is divisible by 23 13

&5 Dy 208w 23 8 erfiodecreed, 1056 & SuDdsURD £I5) Mo
Tud

Options :

4

1.4



Question Number : 154 Question Id : 5494703330 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evoSricded S:bmgaa

The greatest number of 4 digits that is divisible by 6. 7.8 . 9 and 10

6.7 .8.9 208cin 10 & 4 erfooed Treuty 9088y 2963 DG fosdy

Options :

1 % 7520

5 % 7540
7560

3.¢

4 % 7580

Question Number : 155 Question Id : 5494703331 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability ©0sritdd 3065325116

The greatest positive integer ‘n’ such that 1657 and 2037 leave remainders 6 and 5
respectively, when divided by ‘n” is

1657 s0daiv 2037 © o n' B e,:nﬁoéjé:g_)bm SR 6 Aodcin 5 ©8) FHa0m f;:-zfﬁ
endd 20 (k) ?.'gyg‘*oé n

Options :

1 % 13

116

16

Question Number : 156 Question Id : 5494703332 Display Question Number : Yes Is Question

Mandatory : No

Arithmetical Ability ®osricdd ,Ebmg_aa

Which one of the following mixed fractions is the largest?

4

il
5

2 3 3
e, =
7 & 10

& 06 D3 eﬁb;tmueﬁ‘f‘ 8 DEA DHT

4 2 3 3
—6— .—6—,-6—.—-6—
5 7 & 10
Options :
4
—6—
5

1. %



2.
BE

3. %
3
==
4. % K

Question Number : 157 Question Id : 5494703333 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability eogicdsd &vmgﬁa

Which one of the following options is a pair of equivalent rational number?
& 200 DdyFree’ I wg as dooy eddrioh Hojen ?

Options :
24 35
and —
0 50
1. %
7 —55
and
35
2.
—8 —24
— and
15 48
3 %
0 3
— and —
72 21



Question Number : 158 Question Id : 5494703334 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability e90Ericdh .&omgﬁa

¢ A= =
The ascending order of 3/5_%/5 and Us is

= I~

35 45 280w §s aIog), st ey Savo

Options :

]

Question Number : 159 Question Id : 5494703335 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evogricdsh &omgﬁa

k . 2 5 7 8
The sum of the least and greatest fractions among — . — ., — . —
3 8 11 13

& 208 D) 200S Bd DI BT S G DY ML VB

is

2 5 7 9
§ 8 g
Options :
137
104

1.4



31

Ly
i

2. %
111
3. ® 88
190
143
4, ®

Question Number : 160 Question Id : 5494703336 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosriede &»mgsa
In a fraction £, (p.q)=11f ‘p’ is decreased by 8% and ‘g’ i3 increased by 12%
q

,
the value of the fraction becomes i . Thenp +q=

08 D3y %, (p.q)=16" P 2 8 % 3od 2000w ‘¢’ & 12% DoIB, v

-
Dby a0 Dewsd i 2: M08, WP + =

Options :

1 % 143
123

2. %

3.0 M



Question Number : 161 Question Id : 5494703337 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability ©0S e Emgaa

In an examination 50% is the pass mark. A student gets 48 marks and falls short of
32 marks to pass in that examination. Then the maximum marks in that

examination is

wé niges’ eodas 507 ardye orard. 48 ardy e By w8 Dol e
002¢° &Qh IS 32 Jrdpe B BwonT . ey @ H88D

mt:i;agjm ﬁ&fq{} "rooajé

Options:

160
1.9

190

200

4. %

Question Number : 162 Question Id : 5494703338 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability wosned bmgﬁé

The marked price of an article is Rs 500. A shop keeper allows a discount of 5%

on it and gains Rs 25. Then the article cost price in rupees 1s

WS SRpY g, PSS 6 & 500, a8 WS HEE T R 5% AIoth AT 25

ol erery Tomrcy. Ry DRV 010G, £3y dvarle e5*

Options :

| 400

Question Number : 163 Question Id : 5494703339 Display Question Number : Yes Is Question

Mandatory : No
Arithmetical Ability ©osiad anmgsa

A trader bought a house at 20% discount on ifs original price and sold it at a profit
of 40% on the price. Then the profit he made is what percent of the original price

of the house?

2.8 J:S&B wE @D, D W od P 20% dﬂﬂboei 2 &0, D 40% ererdd

90} AP, BNED 963 Do erzio 88 Roth wHED G68° Jodd To ?

Options :

o 14%



12%

2. ¥
o
3 % 13%0
3 (0
4 % 20%

Question Number : 164 Question Id : 5494703340 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosicdd aomgﬁa

3 persons ‘P’, ‘Q’, ‘R’ entered into a business with a total capital of Rs. 3.75.000.
‘P’ invests Rs 30.000 more than ‘Q’ and ‘Q’ invests Rs 30,000 more than ‘R’. The

investment of ‘R’ in rupees is

S0 D P, Q) R ew e 3,75,000 2o DQREE 2.8 Sejrood”
DT, P DA ‘Q Sotl Ar 30,000 &0 aBOID R’ S0 ‘Q DA

ar 30,000 e9880. ‘R’ a308), Denesd: ar|e e

Options :

, x 30.000

40.000

L
3 ¢ 95.000

50.000



Question Number : 165 Question Id : 5494703341 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosritd Eﬁmgﬁé

, 8 : : 1
‘A’ . ‘B’ and ‘C” entered mfo a partnership in which ‘A’ contributed ~ of the

capital and the remaining is contributed by ‘B” and ‘C” in the ratio 2 ; 1. If at the

end of the year C’s share of profit was Rs. 8000, then B’s share of profit (in Rs.) i3

g
AT, 'BT S0boin ‘C7 e b wg &m&d ms#do&'i‘“’ anm :J%mefiij A oy, A0S
oD% B 208oin € en 2 11238 & HErd. Dodsyrosand S\G erdo ¢° C ortr

erzio A 8000 o0, B orer eraio (ar | & &)

Options :

16.000/-
1.

10,000/-

12.000/-
3. %

15.000/-

Question Number : 166 Question Id : 5494703342 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability ©os M3 &omgﬁa

A pipe can fill a tank in 15 hours. Due to leak in the bottom. it ig filled in 20

hours. If the tank is full. the time (in hours) needed by the leak to empty that tank

13

28 Figan ws Fg 15 fotwd” Dodredd. oA wcibd &) Wl ey S0t ol
20 rotiwe® Dodwcod. Y WPEHT Jok &I Mo A P BT

000 e (folo &°)

Options :

4 60

Question Number : 167 Question Id : 5494703343 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability ©odticdeh .avmgﬁa

Two pipes ‘A’ and ‘B’ can fill a tank in 6 hours and 8 hours respectively and pipe
C can empty the full tank in 12 hours, If all the three pipes were opened for 2

hours, what part of the tank 1s filled?

Dot Feamen A $B01 B a8 FPdn Hwdre 6 fowen adoiy 8 rotees’
Aodvay. bty Fhaw € Do &) & FOW 12 doweds’ ar P

LODOOE.  SuPE) ﬁ“g,am}mm 2 fofe) arey BOIDS, ﬁ“@ 08 AP

Docn?
Options:
1
1. % .
> 12
3
4
3. %
1
4. % 2

Question Number : 168 Question Id : 5494703344 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability wosiedd avmgsa

Two athletes travel the same distance at the rate of 15 km and 16 km per hour
respectively. If one of them fakes 16 minutes more than the other to travel that

distance. then the distance (in km) travelled by them is

QR BT W EPCANR SO oty 15 &, D baiy 16 8. & Fyd
DOIPAP. &8 Arean) pordodtrdd Je8e)’ W BoaardLod 16 Dnhawen

D)3 B0, T Hoirdedd drdaw (4. 2 o &)

Options :

1 ¢ 64

60

3. %

63

Question Number : 169 Question Id : 5494703345 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability wognrdd bmgsa

Two trains leave Delhi at 10 am. and 10:30 am for Patna and travel at 60 km/hr
and 75 knv/hr respectively. How many Kilometers from Delhi will the two trains

be together?

Dot Peveog 4B dvod 10.00 am  anboin 10.30 am g ar) & wabendd
DOV oty 60 &. D 0B oty 75 .20, Srod Hoirmo BRoary ow. &b

2oc Dy 2e5°DeLy &5 Bocd Tew wog) Sendran ?

Options :

1 % 164

160

Question Number : 170 Question Id : 5494703346 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability wosnrdd avmgﬁa

‘A’ is three times more efficient than ‘B’ and therefore is able to finish a job in 60

days less than that of ‘B’. If both “‘A’ and ‘B’ work together. they can finish that

job in
B S0t A 20 B0 VB0 LUy, TR ws DIV B ot 60 Fwe ad).d w0’
2rd dabidhored. A 20dain B £dd a:}aﬁmt’@%m & DAY Lrd AN HE

TR0
Options :

20 days
20 Ewen

Question Number : 171 Question Id : 5494703347 Display Question Number : Yes Is Question

Mandatory : No



Arithmetical Ability woddd &mgsa

A man. a women and a boy can finish a job in 12 days. 15 days and 18 days
respectively. How many women should assist 2 men and 3 boys to complete the

work in 1 day?

L WA, e 2 boo wf erend wf DAY Smare 12 Bwen, 15 Bwen,
0bosw 18 Ferers® Hrddaniod. GM AN B0 MK ePend 6 HA
o 'w) T

28 Bwel® 7Pl SoeedE Jott duod § e Pakcio Soird ?

Options :

4 10

Question Number : 172 Question Id : 5494703348 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability eostied ﬂvmgsé

The length of the side of an equilateral triangle (in meters) whose area is equal to
the area of an isosceles triangle with the base and equal sides as 12 m and 10 m.

respectively is

eEroan 2080 PArD Fedwen dWHmr 12 Dexmd b 10 e e 28
RaDAErFIIY Siaan 010S) PTO[AVID VAPD PTUO (10 DRy HHRe

ug), Fadn e (Dowgs’)



Options :

9
1. %
10
2. %
8(3%‘)
3.v
11{3}5}
4. %

Question Number : 173 Question Id : 5494703349 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wogntdd bmgsa

The length of the floor of a hall is 10 meters more than its breadth. If the perimeter

of the hall is 40 meters. then breadth (in meters) is

w8 SPew dog), Jo P, deeny Sofd 10 Dtodh wbL™ Gob. & Hiew Bk Fos

40 Do wond, deevy (g &°)

Options :

6
1. %

L

2.
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Question Number : 174 Question Id : 5494703350 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wodrdd s»mgﬁa

The radius (in cms) of a sphere with surface area 616 sq.cm.. is
Beadairasmamn 616 oo Do m 6 o g Fvawn a8, mﬁgm (220 |0 & &F)

Options:

1 % 50

Question Number : 175 Question Id : 5494703351 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability wodnrid a»mgéa

If the diameter of a circular wheel is equal to the side of a square. then the ratio of

their areas is

w8 SFFEs fe ML TRAD, w6 DBI0PAN HBAVIL DIATIWB, T

2TV .3)%{_}

Options :

In: 11
1. %

1
2. %

) s
3.¢

£.5) il
4, %

Question Number : 176 Question Id : 5494703352 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosricdd an.mgﬁa

The volume of a cuboid is twice the volume of a cube, If the dimensions of the

cuboid are 9 cm, 8 cm and 6 cn. then the side of the cube (in cm) 18

28 B 20530 AINE), MWIDBITRAN, 1L DIJA C0E) WBHBAPIINIL Box.
&5 & 2050 DBTRZ0 Lo 9 20[D0, 8 20[D @wBoky 6 RolD wond, Wiy

0D g0, ghaan (Dol © &)

Options :

1. %



2.
16

3. %
4, ® 2

Question Number : 177 Question Id : 5494703353 Display Question Number : Yes Is Question

Mandatory : No

Arithmetical Ability wosntdd b»mgﬁa

If the radius of the sphere is decreased by 10%. then the percentage decrease in its

volume is

2.8 Bvo 08, c:wa&vgm; 210 % 0odd, oD 20d HBarsmo M SO Tdo

Options :



Question Number : 178 Question Id : 5494703354 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosnrdd bu::ug’sa

In AABC. AB = AC = 16 cm and the perpendicular distance from the mid-point
‘D’ of side BC to the side AC is 3 cm. Then the area of AABC. in square

centimeters, 15

AABC &" AB = AC = 16 Dol sudotn ghaan BC diwg), e) Doy D dod

ehadn AC & (o YoRETGAN 3 Doy, ey AABC ding), e (w]old o

e5°)
Options:
)
1. % &
5 % 36
3 ¢ 48
60

4, %

Question Number : 179 Question Id : 5494703355 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evoSricdeh &»mgﬁa

(1101)2 — (1011)2 =

Options :

e (111



(110)

2. ®

3 (10)
(11}

4. %

Question Number : 180 Question Id : 5494703356 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability eogricdeh E)'b.mgﬁe:‘e

(15)10 in binary system is equal to

B56 5509 &5° (15)1p S0 AAFIDHH

Options:
(1101)2
1. %
(1011)-
2. %
(1111)>
3. ¢
4 % (1001)2

Question Number : 181 Question Id : 5494703357 Display Question Number : Yes Is Question
Mandatory : No



Algebraic and Geometrical Ability Hfo% 208050 w?sm{%oﬁ:.ﬂvmgﬁa

If p’, ‘q’, 7 are statements, then the contrapositive of p—(g—¥) 15 equivalent to

P T pINTgS | eyt p(gT) 08), PBDBBANHD BougDaINE
Options:
Ag)—>T
Lo ®rd
e BN
Pvag)—=r
3. %
o u ESD=T

Question Number : 182 Question Id : 5494703358 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability H&o% 2805w z&‘&bséo:b.ﬁvmﬁ &

35
g

Iff: R»Rand g : R —R be defined by fix)=6x + 8 and gfx) = ——. then

1
fagt=)=

2

x—=2

fRoRaoBoing: R 23R o b fiy)=6x + 8 coboin gx) = ™ DO,

-
wye fog(=)=

Options :
5
1. #
6



Question Number : 183 Question Id : 5494703359 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Db 2080w ﬁ‘s&aéaﬁa.ﬂvmgﬁa

The equation of a line parallel to the line 2x—3y =1and passing through the mid-

point of the line segment joining the points (1. 3) and (1 .-7) is

(1, 3) 208amn (1, -7) Docwapody €80 Bar ocaw dng), M) Doty) ok

P, 2031 =1 26% Ba 3L DareddoT Gol 20 Bar naddeo

Options :
2x—3v=8
1.¢
o 2x+3vy=-4
2. % '
2x—3v=4
3. %
2x—3v=-8
4, %

Question Number : 184 Question Id : 5494703360 Display Question Number : Yes Is Question
Mandatory : No



Algebraic and Geometrical Ability D#a% 2080w wéméms»mgﬁa

From the top of a building 60 meters high if the angle of elevation of the top of a
tower is found to be equal to the angle of depression of the foot of that tower, then

the height (in meters) of that tower is

60 Dotag Jedo Mo w8 BHDo Syod wg Hpdo £ artan ding), aeg&éﬁe;mw. 23

Fapde drcan diug), Doy Frandh varignd, v Fpde Jg) (Dvegs’)

Options :

100

Question Number : 185 Question Id : 5494703361 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability D& 2805 wém{aoﬁavmgﬁa

Ifx+1andx — 1 are factors of x> +2x° +ax+b. then a,b) =

3

¥+ 1 obon ¥ -1 ensd x +21‘2+a.‘(+b cﬁ:ué;:_ SOroSan (Trodam) aa,

G fa, bl=

Options:

(1.-2)

1. %



(-2.-1)

2. %

Lo E1D)
(-1.2)

4, %

Question Number : 186 Question Id : 5494703362 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Hdah 208adw a&‘&&aécﬁaébmgﬁé

If the sum of the four consecutive odd numbers is 72. then the ratio of the smallest

and the largest of these numbers 13
TPeur S B Doafe 2wehw 72 Bond, B & dopjpd’ Bud D) Boiw
el 335 FI0EIe) .::‘m% ey S

(]} E o =

Options :

i S

A

L
D

4, =

Question Number : 187 Question Id : 5494703363 Display Question Number : Yes Is Question
Mandatory : No



Algebraic and Geometrical Ability D& 2803 H‘SﬁJ@ﬁbﬁ'bjgﬁé

If the first term of an infinite geometric progression is 2 and sum of all ifs terms is

6. then the 5% term of that progression is

28 ©508 RFE dng) et HED 2 2bako ) g, 23y DEAVY DB

6 w2008 &2 30 G308), 5 & D0

Options:
64
243
1. %
16
2. % 7
32
3 % 243
32
81
4.+

Question Number : 188 Question Id : 5494703364 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Do 2805w a-:.‘smof%oﬁﬁbmgﬁé

If the sum of the first 21 terms of an arithmetic progression is 357. then the 11%®

term of that progression is

wS e90d B o308, 208 21 Devane 2odan 357 ond. i)y e 36 abog), 11

ol 2333300



Options :

10
'|_$3

18
2. %
3¢ 1
L 16

Question Number : 189 Question Id : 5494703365 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Dfah 208a3n ﬁ‘g&s&uﬁ:.ﬁvmcﬁ &

a3
- -_1 -1 i_'ﬂ 1_. 2 ) i
If A= , B=| and (A+B)"=A"+B-.theng + b=
12 -1 ‘b -1
1 -1 (@ 17 L
- 1':B=b 1|mam(mm-:gwa-wma.w;g_-}:ra,;..g+,_r;.=
- = | _.
Options :
5
1.+
o
4
3. %
-5



Question Number : 190 Question Id : 5494703366 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability D#a% 2080i0 ﬁ‘gm@ﬁi}.ﬁbmgﬁ

D . E. F are respectively the mid points of the sides BC . CA . ABof a AABC. If
the area of the quadrilateral AFDE formed is 14 square units, then area of AABC,

i square units, is

AABC SV IR AV LY BC.CA,ABw BVl Dotahen Sdre D, E, F en ;
cieotnas AFDE cingy DT L0 14 ﬁ|mﬂgp eacoaed, AABC CIwg), PTULA0
o] otordey &°

Options :

5
1.¢ -

Question Number : 191 Question Id : 5494703367 Display Question Number : Yes Is Question
Mandatory : No



Statistical Ability Stoz.}:?sé avmgﬁa

The arithmetic mean of 10 numbers 1s 20. If each number of this set is first
multiplied by 2 and then increased by 5. then the arithmetic mean of the new

numbers is

10 Hoae dwg), ®of EEA 20. & DA A Loy Aot 2 B0

redod) & e 5 S9HA, ey g E}dbé‘;;a Roae 08 EHRAD

Options :

4
| % 20

b
Lh

40

4.+

Question Number : 192 Question Id : 5494703368 Display Question Number : Yes Is Question

Mandatory : No

Statistical Ability Sﬁos_u;s avmgﬁa

The median of the following frequency distribution 13

Xi 1 2 3 4 5 6 7 8
fi 8 10 11 16 20 25 15

& Sob ﬂ‘é?é}_‘}f&é Deradan dng), e

Xi 1 2 3 4 3 6 7 8 9
fi 3 10 11 16 2 25 15 9 6

(=]




Options :

Lh

2. ¢

Question Number : 193 Question Id : 5494703369 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability 3@03.1755 bv.mgﬁé

If the mode and mean of the data are 12 and 135, respectively then the sum of the
mean. median and mode of that data is

WS OTPoFTIW oﬁmé:r_l eFaFOWES0) anboiy 9ol ajqﬁémm)m Sdorre 12 20Boiv 15
9008 €3 AEPoFa 0305, #908 cVEHDN, aDGIBN0 200D EPTUFEL DG
Options :

30

5> 41

48
.



40

Question Number : 194 Question Id : 5494703370 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability 3‘%3;.155 .avmgﬁa

The variance of the first 10 natural numbers is

2006ed 10 Dira Doy © Dy

Options :
7.25

1.%

2. % ?
8.25

3.

4, % 8

Question Number : 195 Question Id : 5494703371 Display Question Number : Yes Is Question
Mandatory : No



Statistical Ability ﬁﬂuapﬁs Bv:uggé

If the standard deviation of the numbers 2 . 4 . 5 and 6 is ‘K, then the standard

deviation of the number 4 . 6. 7 and 8 is

2,4, 5 0Botn b Dowgw gaudduda K 900, o6 4, 6, 7 20Botn 8 Howgw

S EALI N e

Options:

K+2
1. %

2K
2. %

4K
3 %

K
4.+

Question Number : 196 Question Id : 5494703372 Display Question Number : Yes Is Question
Mandatory : No



Statistical Ability Q')vua.:.:?ss .ihmgée:&

8 students participated in a singing competition and are ranked by two judges ‘A’

and ‘B’ as follows:

A 6
B 3

L ]
s
| S

N
=
o
| S I ]
s
—_

then the rank correlation coefficient of this data s

8 o0& Deegen FEI ¢ vofiso TS 8¢ A WBow B e agh THon

:Ue@vf-;au DN mac-é.} en & Sod Do e:—‘.awi on
g Lot

A 6 5 8 4 2 3 7 ] 1}
B 3 5 7 6 4 2 8 1

)Y & TPOB A CVEY £ Hiroen Hmgan

Options :
L]
4

1. %
1
_ 8

2. %
16
21

3.¢
A
4 % 21

Question Number : 197 Question Id : 5494703373 Display Question Number : Yes Is Question
Mandatory : No



Statistical Ability 31:33.:)55 E)nmgﬁé

If a number 18 selected at random from the first 25 natwal numbers. then the

probability that it is either a multiple of 5 or a multiple of 7 is

206 25 Hire Kmm&u ook 2.8 "faoa:zﬁa:u Qﬁfﬁaﬁ}agoﬁ“ Jotgiot] es f-aoa:{,} 5 G08),

toean O 7 03;1:;5'3: fhesan o Roardjd

Options :
12
25
1. %
B
Z5
2. ¢
6
3 % 25

Question Number : 198 Question Id : 5494703374 Display Question Number : Yes Is Question
Mandatory : No



Statistical Ability Ehoa,%ﬁ évmgsé

A box contains 40 white balls and some red and some green balls. If the
probability of drawing a red ball at random from it is equal to thrice that of a white
ball and the probability of drawing a green ball at random from it is equal to twice

that of a red ball. then the total number of balls in that box is

wd P° 40 B wodoen DB £ IgD, FI) LHSED woBrD &T) 0.
ok wE IED 0B CIrEINCOT B DorA, w8 BYD LB B NoFrSB
£ Jurey Bew uboin o dood wg HQJEJQQIQ EI0E3D) MPQQQ'&SUTF L) “ﬁ}oaﬁznsej.

8 G 08 @ Dowrdys & Boay) wond, &5 DY &5 2naeto Lxodoe Q08§

Options :

I
1. % =0

400
4.

Question Number : 199 Question Id : 5494703375 Display Question Number : Yes Is Question
Mandatory : No



Statistical Ability Svoap?ss E)vmgﬁé

If two persons are selected at random from 12 persons sitting around a table. then

the probability that the selected person are not seafed adjacent to each other is

2,8 e Wty Q‘F%D &) 12 ol Ao cﬁfcf»a{)‘)gom REBA oS BY, & oS

Dobets D9 wsh 8 B Srb\dD0m Gol Dograd

Options :
2
- 11
=
5 & 11
3
11
3. %
3
4, ® =

Question Number : 200 Question Id : 5494703376 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability Svcsgjgs .ﬁvmgév:&

If three fair dice are rolled. then the probability that a prime number doesn’t

appear on any one of their faces is

20PE) D3 Ao Bod@, O anaane P d ), oD pd W I Howj

26D F\DOEJ"::’J;B@



Options :
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